
1) (202 ÷ 13) + (22 x 8)

Answer: ____________

2) 18 x 13 - 12 x 2

Answer: ____________

3) 82 + 20 + 10

Answer: ____________

4) 62 x 4 x 18

Answer: ____________

5) (92 + 18) - (14 ÷ 2)

Answer: ____________

6) (8 ÷ 20 x 11) x 13

Answer: ____________

7) (182 ÷ 9 + 6) + 1

Answer: ____________

8) 3 x 18 + 19 - 20

Answer: ____________

9) 102 + 9 + 14

Answer: ____________

10) (16 - 12) + 5 - 8

Answer: ____________

11) 17 ÷ 14 x (9 - 13)

Answer: ____________

12) 1 - 12 ÷ 1 x 9

Answer: ____________

13) (20 x 5) x 15 x 20

Answer: ____________

14) 132 x 4 - 4

Answer: ____________

15) 4 x 18 x (19 x 15)

Answer: ____________
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16) 5 x 62 - 17 - 14

Answer: ____________

17) (8 x 10) x (6 - 11)

Answer: ____________

18) (4 x 14 - 13) - 2

Answer: ____________

19) 112 + 3 - 20

Answer: ____________

20) 17 x 7 ÷ 7 ÷ 12

Answer: ____________

21) 42 x 18 ÷ 10

Answer: ____________

22) 92 ÷ 18 x 10

Answer: ____________

23) (5 + 5 x 5) + 19

Answer: ____________

24) 202 + 18 + 13

Answer: ____________

25) (19 - 3) x (1 ÷ 3)

Answer: ____________

26) (19 x 20) - 12 + 132

Answer: ____________

27) 52 + 13 ÷ 13

Answer: ____________

28) (8 - 3 - 1) + 20

Answer: ____________

29) 52 + 20 x 17

Answer: ____________

30) (1 ÷ 9 x 2) + 9

Answer: ____________
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31) 13 ÷ 152 - 17 x 9

Answer: ____________

32) (5 x 6) ÷ (13 + 8)

Answer: ____________

33) (1 x 5 ÷ 16) ÷ 12

Answer: ____________

34) 19 - 16 - 5 + 18

Answer: ____________

35) 182 - 14 x 11

Answer: ____________

36) 17 ÷ 12 x (10 + 9)

Answer: ____________

37) 62 ÷ 18 x 2

Answer: ____________

38) (9 - 4 + 8) x 19

Answer: ____________

39) (17 ÷ 15) x (11 ÷ 11)

Answer: ____________

40) (8 x 182) ÷ (15 - 15)

Answer: ____________

41) 102 x 3 - 18

Answer: ____________

42) (15 x 16 ÷ 11) ÷ 15

Answer: ____________

43) (2 ÷ 1 + 14) + 162

Answer: ____________

44) 42 ÷ 12 x 16

Answer: ____________

45) (8 ÷ 7) + (7 x 11)

Answer: ____________

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

November 17, 2023

Sr: 17112023-3320

 

http://www.geekschool.co.uk


46) (32 + 1) + 2 x 5

Answer: ____________

47) (20 - 17) - (7 - 16)

Answer: ____________

48) (5 x 20) ÷ (11 x 2)

Answer: ____________

49) 72 x 17 + 13

Answer: ____________

50) 16 - 17 x (8 x 19)

Answer: ____________

Total: ___ / 50
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Answers:

1) 2) 3) 94 4) 5) 92 6) 7) 43

8) 9) 123 10) 1 11) 12) 13) 14)

15) 16) 17) 18) 19) 104 20) 21)

22) 23) 24) 431 25) 26) 27) 26 28) 24

29) 30) 31) 32) 33) 34) 16 35)

36) 37) 38) 39) 40) 41) 42)

43) 272 44) 45) 46) 47) 12 48) 49)

50)
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